26. Data Handling-IV (Probability) ~ CrASS24

Exercise 26.1

1. Question

The probability that it will rain tomorrow is 0.85. What is the probability that it will not rain tomorrow?
Answer

The probability of tomorrow rain P(E) = 0.85

Probability of not raining is given by P(g) = 1 - P(E)
Therefore probability of not raining = P(g)=1-0.85=0.15
2. Question

A die thrown. Find the probability of getting:

(i) a prime number

(iiy 2 ord

(iii) @ multiple of 2 or 3

Answer

(i) Outcomes of adieare: 1,2, 3,4, 5 5and 6

Total number of outcome = 6

Prime numbers are: 1, 3 and 5

Total number of prime numbers = 3

Probability of getting a prime number =  Tofalprimenumbers 3 _ 1
-]

Total number of outcomes

Therefore probability of getting a prime number = =

SR

(ii) Outcomes of adieare: 1, 2, 3, 4,5, 5and 6

Total number of outcome = 6

Probability of getting 2 and 4 is = md s ivers =

Total number of outcomes

1

Therefore probability of getting 2 and 4 is§
(iii) Outcomes of adieare: 1, 2, 3,4, 5,5 and 6

Multiplesof 2 and 3are =2, 3,4 and 6

Total number of multiples are 4

Total numbers

Probability of getting a multiple of 2 or 3 is =

Total number of outcomes

2

Therefore probability of getting a multiple of 2 or 3= 3

3. Question

In a simultaneous throw of a pair of dice, find the probability of getting:
(i) 8 as the sum

(ii) a doublet

(iii) a doublet of prime numbers

{iv) a doublet of odd numbers
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(v) a sum greater than 9

{vi) An even number on first

(vii) an even number on one and a multiple of 3 on the other
{viii) neither 9 nor 11 as the sum of the numbers on the faces
{ix) asum lessthan 6

{(x) a sum less than 7

{xi) a sum more than 7

(xii) at least once

{xiii) a number other than 5 on any dice.

Answer

(i) 8 as the sum

Total number of outcomes when a pair of die is thrown simultaneously is:

Here the first number denotes the outcome of first die and second number the outcome of second die.

TABLE 1
First Die
econd die 1 2 3 4 5 6
1 1,1 1,2 1,3 1,4 10 1,6
2 7L 2,2 2,3 2,4 2,5 2,6
3 3,1 3,2 3,3 3,4 3,5 3,6
4 4,1 4,2 4,3 4,4 4,5 4,6
5 51 52 53 54 55 56
6 6,1 62 6,3 6 4 6,5 6,6

Total number of cutcomes in the above table are 36
Numbers of outcomes having 8 as sum are: (6, 2), (5, 3), (4, 4), (3, 5) and (2, 6)
Therefore numbers of outcomes having 8 as sum are 5

Probability of getting numbers of outcomes having 8 as sum is = -l s

Total number of outcomes T

Therefore Probability of getting numbers of outcomes having 8 as sum is — =
316

{(ii) a doublet
Total number of outcomes in the above table 1 are 36
Numbers of outcomes as doublet are: {1, 1), (2, 2), (3, 3), (4, 4), (5, 5) and (6, 6)

Therefore Numbers of outcomes as doublet are 6

Probability of getting numbers of outcomes as doublet is = — ::;‘_";:r“:;}’::mms = 3—‘; = é
Therefore Probability of getting numbers of outcomes as doublet is =§
{iii) a doublet of prime numbers
Total number of outcomes in the above table 1 are 36
Numbers of outcomes as doublet of prime numbers are: (1, 1), (3, 3), (5, 5)
Therefore Numbers of outcomes as doublet of prime numbers are 3
Total numbers 3 1

Probability of getting numbers of outcomes as doublet of prime numbers is = ==
Total number of outcomes 36 12
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Therefore Probability of getting numbers of outcomes as doublet of prime numbers is = =

z

{iv) a doublet of odd numbers
Total number of outcomes in the above table 1 are 36
Numbers of outcomes as doublet of odd numbers are: (1, 1), (3, 3), (5, 5)

Therefore Numbers of outcomes as doublet of odd numbers are 3

Probability of getting numbers of outcomes as doublet of odd numbers is = rom!:::;:r“:’::smnm = 3—?‘6 = 1_12
Therefore Probability of getting numbers of outcomes as doublet of odd numbers is = i

(v) a sum greater than 9

Total numbers of outcomes in the above table 1 are 36

Numbers of outcomes having sum greater than 9 are: (4, 6), (5, 5), (5, 6), {6, 6), (6, 4), (6, 5)

Therefore Numbers of outcomes having sum greater than 9 are 6

Probability of getting numbers of outcomes having sum greater than 9 is = Tcmi:;:';::;"fb:zwms = 335 =§

Therefore Probability of getting numbers of outcomes having sum greater than 9 is=§

{vi) An even number on first
Total numbers of outcomes in the above table 1 are 36

Numbers of outcomes having an even number on first are: (2, 1), (2, 2), (2, 3), (2, 4), (2, 5), (2, 6), (4, 1), (4,
2), (4, 3), (4, 4), (4, 5), (4, 6), (6, 1), (6, 2), (6, 3), (B, 4), (6, 5) and (6, 6)

Therefore Numbers of outcomes having an even number on first are 18

Probability of getting numbers of outcomes having An even number on first is =
Total numbers 18 1

Total number of outcomes 36 2

Therefore Probability of getting numbers of outcomes having an even number on first is:%

{vii) an even number on one and a multiple of 3 on the other
Total numbers of outcomes in the above table 1 are 36

Numbers of outcomes having an even number on one and a multiple of 3 on the other are: (2, 3}, (2, 6), (4,
3), {4, 6), (6, 3) and (6, 6)

Therefore Numbers of outcomes having an even number on one and a multiple of 3 on the other are 6

Probability of getting an even number on one and a multiple of 3 on the otheris =
Total numbers 6

[N

Total number of outcomes 36

Therefore Probability of getting an even number on one and a multiple of 3 on the otheris= 1
[

{viii) neither 9 nor 11 as the sum of the numbers on the faces
Total numbers of outcomes in the above table 1 are 36

Numbers of outcomes having 9 nor 11 as the sum of the numbers on the faces are: (3, 6), (4, 5). (5, 4), (5.
6), (6, 3) and (6, 5)

Therefore Numbers of outcomes having neither 9 nor 11 as the sum of the numbers on the faces are 6

Probability of getting 9 nor 11 as the sum of the numbers on the faces is = Total numbers L
Total number o f outcomes 36

@

The probability of outcomes having 9 nor 11 as the sum of the numbers on the faces P(E) =§
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Probability of outcomes not having 9 nor 11 as the sum of the numbers on the faces is gi’
g_1_s1_s
[ [ &

Therefore probability of outcomes not having 9 nor 11 as the sum of the numbers on the faces = Pg) =2

[
Therefore Probability of getting neither 9 nor 11 as the sum of the numbers on the faces is=§
(ix) a sum less than 6
Total numbers of outcomes in the above table 1 are 36

Numbers of outcomes having a sum less than 6 are: (1, 1), (1, 2), (1, 3), (1, 4), (2, 1), (2, 2), (2, 3), (3, 1), (3,
2), (4, 1)

Therefore Numbers of outcomes having a sum less than 6 are 10

Probability of getting a sum less than 6 is = fiotal numbars _1w_5
Total number of outcomes 36 ig

Therefore Probability of getting sum less than 6 is = 2
18

{x) asum less than 7
Total numbers of outcomes in the above table 1 are 36

Numbers of outcomes having a sum less than 7 are: (1, 1), (1, 2), (1, 3), (1, 4), (1, 5), (2, 1), (2, 2), (2, 3), (2,
4), (3, 1), (3, 2), (3, 3), (4, 1), (4, 2), (5. 1)

Therefore Numbers of outcomes having a sum less than 7 are 15

Probability of getting a sum less than 7 is = Total numbers e

Total number o f outcomes

[
[

o
[=5
"
rJ|”‘

Therefore Probability of getting sum less than 7 is =

™
= K

{xi) @ sum more than 7
Total numbers of outcomes in the above table 1 are 36

Numbers of outcomes having a sum more than 7 are: (2, 6), (3, 5), (3, 6), (4, 4), (4, 5), (4, 6), (5, 3), (5, 4),
(5, 5), (5, 6), (6, 2), (6, 3), (6, 4), (6, 5), (6, 6)

Therefore Numbers of outcomes having a sum more than 7 are 15

Probability of getting a sum more than 7 is = T eI = L
Total number of outcomes 36 12

Therefore Probability of getting sum more than 7 is— 2
12

(xii) at least once
Total numbers of outcomes in the above table 1 are 36

Therefore Numbers of putcomes for atleast once are 11

Total numbers 11

Probability of getting outcomes for atleast once is =

Total number of outcomes - 36

Therefore Probability of getting outcomes for atleast once is = %

(xiii) a number other than 5 on any dice.
Total numbers of outcomes in the above table 1 are 36

Numbers of outcomes having 5 on any die are: (1, 5), (2. 5), (3. 5). (4, 5), (5, 1), (5, 2), (5. 3). (5, 4}, (5, 5).
(5, 6). (6. 5)

Therefore Numbers of outcomes having outcomes having 5 on any die are 15
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Probability of getting 5 on any die is =

Total number of outcomes T 36

Therefore Probability of getting 5 on any die is— 12
36

Probability of not getting 5 on any die P{g) = 1 -P (E)

P(E) =1_E:36—11=2_3

36 36 36

4. Question

Three coins are tossed together. Find the probability of getting:

(i) exactly two heads

(ii) at least two heads

(iii) at least one head and one tail

{iv) no tails

Answer

(i) exactly two heads

Possible outcome of tossing three coins are: HTT, HHT, HHH, HTH, TTT, TTH, THT, THH

Numbers of outcomes of exactly two heads are: 3

Total numbers

Probability of getting exactly two heads is =

3
Total number of outcomes 2

Therefore Probability of getting exactly two heads is =

1w

{ii} at least two heads
Possible putcome of tossing three coins are: HTT, HHT, HHH, HTH, TTT, TTH, THT, THH

Numbers of outcomes of atleast two heads are: 4

Probability of getting atleast two heads is = R Eumbers A

Total number of outcomes o

[

Therefore Probability of getting atleast two heads is =§

{iii) at least one head and one tail
Possible cutcome of tossing three coins are: HTT, HHT, HHH, HTH, TTT, TTH, THT, THH

Numbers of outcomes of at least one head and one tail are: 6

Probability of getting at least one head and one tail is = Dotal numbers _8_3
Total number of outcomes 8 4

Therefore Probability of getting at least one head and one tail is =§

{(iv) no tails
Possible gutcome of tossing three coins are: HTT, HHT, HHH, HTH, TTT, TTH, THT, THH

Numbers of outcomes of no tails are: 1

Total numbers 1

Probability of getting no tails is =

Total number o f outcomes T e

Therefore Probability of getting no tails is:é

5. Question

A card is drawn at random from a pack of 52 cards. Find the probability that the card drawn is:
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(i) a black king

{ii) either a black card or a king
(iii) black and a king

{iv) a jack, queen or a king

(v) neither a heart nor a king
(vi) spade or an ace

(vii) neither an ace nor a king
(viii) neither a red card nor a queen
(ix) other than an ace

(x) a ten

(xi) a spade

{xii) a black card

{xiii) the seven of clubs

(xiv) jack

(xv) the ace of spades

{xvi) a queen

{xvii) a heart

(xviii) a red card

Answer

(i) a black king

Total numbers of cards are 52

Number of black king cards = 2

Totalnumber of blackkingcards 2 1

Probability of getting black king cards is =

Total numbearof cards 52 26

1

=3

Therefore Probability of getting black king cards is =

(=]

(ii) either a black card or a king
Total numbers of cards are 52

Number of either a black card or a king = 28

Total number of either a black or a king

Probability of getting either a black card ora king is =

Il
w
SR -]

I
Ll

Total number of cards

Therefore Probability of getting either a black card or a king iS:%

(iii) black and a king
Total numbers of cards are 52

Number of black and a king = 2

Probability of getting black and a king is = Total number of black and a king — 2 _ 1
Total numberof cards 52 26

Therefore Probability of getting black and a king is=i

(iv) a jack, queen or a king
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Total numbers of cards are 52

Number of a jack, queen or a king = 12

Probablllty of getting a jack, queen ora kll'lg is = Total numberof jack.queen or king _ E — i
Total number of cards 52 13

Therefore Probability of getting a jack, queen or a king is= -133-

(v) neither a heart nor a king
Total numbers of cards are 52

Total number of heart cards = 13

Probability of getting a heart is = Totalnumberof heart 13 1

Total numberof cards T 52 a

Total number of king cards = 4

Probability of getting a king is = Jetalnumberof king _ 4 _
Total number of cards 52

2
13

Total probability of getting a heart and a king = 5‘ FRE .16 _ 1

52 s2 52 13

Therefore probability of getting neither a heart nor a king = 1 _REIREO,

13 13
(vi) spade or an ace
Total numbers of cards are 52
Number of spade cards = 13
Probablllty of getting Spade cards is =Taf:r.’r.:4?r:bpr0f5pa:'e cards - 3
Total number of cards 52
Total numbers of cards are 52
Number of ace cards = 4
iR " f al numk ard
Probablllty Of gettlng ace cards is = Totalr ﬂerofﬂc’a{'ﬂﬁs: i
Total number of cards 52
Probability of getting ace and spade cards is = Total number of ace and spade cards - 1
Total number of cards 52
Probability of getting an ace or spade cards is =22 4 2 _ 2 _ ”f—:“l= e l—t
2L 2L = ey 2 2L =

Therefore Probability of getting an ace or spade cards is =:—3

(vii) neither an ace nor a king

Total numbers of cards are 52

Number of king cards = 4

Number of ace cards = 4

Total numberofcards =4 +4 =8

Total number of neither an ace nor a king are= 52 -8 = 44

Probability of getting neither an ace nor a king is = Fef@/ numberofcards _ 44 _ 11

Total number of cards T 52 13

Therefore Probability of getting neither an ace nor a king is =1_:
1

(viii) neither a red card nor a queen
Total numbers of cards are 52

Red cards include hearts and diamonds
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Number of hearts in a deck 52 cards = 13

Number of diamonds in a deck 52 cards = 13

Number of queen in a deck 52 cards = 4

Total number of red card and queen = 13 + 13 + 2 = 28,
[since queen of heart and queen of diamond are removed]

Number of card which is neither a red card nora queen = 52 - 28 = 24

Probability of getting neither a king nor a queen is = [oalnumberof cards _
Total number of cards

| o

UI|M
0 |
I
-

w

Therefore Probability of getting neither a king nor a queen is = %

{ix) other than an ace

Total numbers of cards are 52

Total number of ace cards = 4

Total number of non-ace cards = 52-4 = 48

Probability of getting non-ace is — Totalnumber of non-ace cards _ 48 _ 12

Total number of cards 32 13
(x) a ten

Total numbers of cards are 52

Total number of ten cards = 4

Probablllty of getting non-ace is =Tol‘crfm.‘n:mn'ofl‘encm'ds A i -

Total number of cards 52

[
mI""

(xi) a spade
Total numbers of cards are 52

Total number of spade cards = 13

Probability of getting spade is = Lefalnumber of spadecards _ 13 _ 1

Total number of cards 5

w
-

(=]

{xii) a black card

Total numbers of cards are 52

Cards of spades and clubs are black cards.

Number of spades = 13

Number of clubs = 13

Therefore, total number of black card out of 52 cards =13 + 13 = 26

Probability of getting black cards is = Totalnumber of blackcards _ 26 _ 1

Total numberof cards T 52 2

(xiii) the seven of clubs
Total numbers of cards are 52

Number of the seven of clubs cards = 1

Probability of getting the seven of clubs cards is = Total number of the seven of clubs cards — 1
Total number of cards 2

w

(xiv) jack
Total numbers of cards are 52

Number of jack cards = 4



Totalnumber of jackcards _ 4 1 CLAssz4

Probability of getting jack cards is = =— ==
Total numberof cards 52 13

(xv) the ace of spades
Total numbers of cards are 52

Number of the ace of spadescards =1

Probability of getting ace of spades cards is = Fetalnumber of aceof spade cards _

1 1
Total numberofcards 52

2

w

{xvi) a queen
Total numbers of cards are 52

Number of queen cards = 4

Probability of getting queen cards is = Total number of queen cards :l — 1
Total numberof cards 52 1

7]

{xvii}) a heart
Total numbers of cards are 52

Number of heart cards = 13

Probability of getting queen cards is = Tefalnumberof heartcards _ 13 _ 1
Total number of cards 52 4

{xviii) a red card

Total numbers of cards are 52

Number of red cards = 13+13 = 26

Probability of getting queen cards is = Zofalnumberofredeards _ 26 _ 1
Total numberof cards 52 2

6. Question

An urn contains 10 red and 8 white balls. One ball is drawn at random. Find the probability that the ball
drawn is white.

Answer
Total numbers of red balls = 10
Number of red white balls = 8

Total number of balls =10 + 8 = 18

_ Totalnumber of whiteballs B

Probability of getting a white is
Totalnumber of balls 18

D | 4

7. Question

A bag contains 3 red balls, 5 black balls and 4 white balls. A ball is drawn at random from the bag. What is
the probability that the ball drawn is :

(i) White?

(ii) red?

(iii) black?

(iv) not red?

Answer

(i) White?

Total numbers of red balls = 3

Number of black balls = 5
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Number of white balls = 4

Total numberofballs=3+5+4=12

Probability of getting a white ball is = T”t:::::i:;‘:’;:';’::;’:m = % = i
(ii) red?

Total numbers of red balls = 3

Number of black balls = 5

Number of white balls = 4

Total numberofballs=3+5+ 4 =12

Probability of getting a red ball is = T°;::::’;:’;;fo’;:£;‘:I’ = % =§

(iii) black?

Total numbers of red balls = 3

Number of black balls = 5

Number of white balls = 4

Total numberofballs =3+ 5+ 4 =12

Probability of getting a black ball is = T";”:::;:’f:;:fi’!:;::;;:”‘ ==

{iv) not red?

Total numbers of red balls = 3

Number of black balls = 5

Number of white balls = 4

Total number of Non red balls =5+ 4 =9

Probability of getting a non red ball is = T‘”;;?(';:‘;;:’;;z; ;:i:'"‘ = % :3
8. Question

What is the probability that a number selected from the numbers 1, 2, 3, ..., 15 is a multiple of 4?

Answer
Total numbers are 15

Multiples of 4 are = 4, 8, 12

Probability of getting a rnultiple of 4is — Totalnumber of multiplesof 4 _ 3
5

Total numbers

-
wn =

9. Question

A bag contains 6 red, 8 black and 4 white balls. A ball is drawn at random. What is the probability that ball
drawn is not black?

Answer

Total numbers of red balls = 6

Number of black balls = 8

Number of white balls = 4

Total number of Non red balls =6 + 8 + 4 = 18

Number of non black balls are =6 + 4 = 10



Totalnumber of nonblackballs 10 _ 5 c LAssz4

Probability of getting a non black ball is = =—==
Totalnumberof balls b §:} o

10. Question

A bag contains 5 white and 7 red balls. One ball is drawn at random. What is the probability that ball drawn
is white?

Answer
Total numbers of red balls =7
Number of white balls =5

Total numberof Nonred balls=7 +5 =12

Probability of getting a non black ball is = Tetelnumberof whiteballs _ S

Total number of balls 12

11. Question

A bag contains 4 red, 5 black and 6 white balls. One ball is drawn from the bag at random. Find the
probability that the ball drawn is:

(i) white

{ii) red

{iii) not black

(iv) red or white

Answer

(i) white

Total numbers of red balls = 4
Number of black balls = 5
Number of white balls = 6

Total numberofballs=4+5+ 6 =15

Probablllty Of gettir‘lg a Whlte ba” iS . Total number of whiteballs i i &

Total number of balls 1

u
LA ]

(i} red

Total numbers of red balls = 4
Number of black balls = 5
Number of white balls = 6

Total numberofballs=4+5+6 =15

Probability of getting a red ball is = Total number ﬂfTed’baHS= 4
Total numberof balls 15

(iii) not black

Total numbers of red balls = 4
Number of black balls = 5

Number of white balls = 6

Total numberofballs=44+54+6 =15

Number of non black balls = 4 + 6 = 10

Probablllty of getting a non black ball is =Tﬂt‘a1numbprafnun b!nfkbﬂ!lsz 10

Totalnumberof balls E

Wi
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(iv) red or white

Total numbers of red balls = 4
Number of black balls = 5

Number of white balls = 6

Total numberofballs=44+54+6 =15

Number of red and white balls =4 + 6 = 10

Probability of getting a red or white ball is = Tefainumberof red orwhite balls _ 10 _ 2
3

Total number of balls 15

12. Question

A bag contains 3 red balls and 5 black balls. A ball is drawn at random from the bag. What is the probability
that the ball drawn is :

(i) red

(ii) black

Answer

(i) red

Total numbers of red balls = 3
Number of black balls = 5

Total numberofballs=3+5=28

Probability of getting a red ball is = Tofainumber of red balls _ 3
Total numberef balls 2

{ii) black

Total numbers of red balls = 3

Number of black balls = 5

Total numberofballs=3+5=8

Probabi”ty of getting a black ball is =To:n!numbsr afb!acr’fbﬂ!h: 5

Taotal numberof balls =3

13. Question

A bag contains 5 red marbles, 8 white marbles, 4 green marbles. What is the probability that if one marble is
taken out of the bag at random, it will be

{i) red

{ii) white

{iii) not green

Answer

(i) red

Total numbers of red marbles = 5
Number of white marbles = 8
Number of green marbles = 4

Total number of marbles =5+ 8+ 4 =17

Totalnumber of red marbles _ 5

Probability of getting a red marble is =

Total numberof marbles T 7

(ii) white



Total numbers of red marbles =5
Number of white marbles = 8
Number of green marbles = 4

Total number of marbles =5+ 8+ 4 =17

Probability of getting a white marble is =

Total number of marbles
{iii) not green
Total numbers of red marbles = 5
Number of white marbles = 8
Number of green marbles = 4
Total number of marbles =5+ 8 + 4 =17

Total number of red and white marbles =5 + 8 = 13

Probability of getting a non green marble is =

Total number of white marbles

g8

17

Totalnumber of non green marbles 13

Total numberof marbles

14. Question

CLASS24

If you put 21 consonants and 5 vowels in a bag. What would carry greater probability? Getting a consonant

or a vowel? Find each probability?
Answer

Total numbers of cnsonants = 21
Number of white vowels = 5

Total number of alphabets = 21 + 5 = 26

~
o
.
n
g
o
Q
.
o
9
&
=]
=
-]
=
=
“
I
r
-

Probability of getting a consonant is =

(¥
[*]]

Total number of marbles

i i : Total number rowels 5
Probability of getting a vowel is = —Lotalnumber of vowels 5
Total number af alphabets 26

Therefore the probability of getting a consonant is more.

15. Question

If we have 15 boys and 5 girls in a class which carries a higher probability? Getting a copy belonging to a boy

or a girl. Can you give it a value?
Answer

Total numbers of boys in a class = 15
Number of girls ina class =5

Total number of students =15 + 5 = 20

Total number of boys 15

Probability of getting a copy of a boy is = ===

Total number of students ~ 20

Total numberof vowels 5

Probability of getting a copy of a girl is =

Therefore the probability of getting a copy of a boy is more.

16. Question

It you have a collection of 6 pairs of white socks and 3 pairs of black socks. What is the probability that a pair

you pick without looking is (i) white? {ii) black?

Answer



Total numbers of white shocks = 6 pairs

Total numbers of black shocks = 3 pairs

Total number pairs of shocks =6+ 3 =9

Probability of getting a white shock is =

Probability of getting a black shock is =

17. Question

Total number of shocks

Total number o f whiteshocks 6
9

Total number of black shocks _

Total numberof shocks

3
9

Wi

[N R
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If you have a spinning wheel with 3-green sectors, 1-blue sector and 1-red sector. What is the probability of
getting a green sector? Is it the maximum?

Answer

Total numbers of green sectors = 3

Total numbers of blue sector=1

Total numbers of red sector=1

Total nhumberofsectors=3+1+1=5

Probability of getting a green sector is =

Total number of green sectors

Total number of shocks

3
5

Probablllty of gettil"lg a blue sector is = Total number of blue sectors - 1
Total number of shocks 3
Probability of getting a red sector is = Total number of red sectors - 1
Total number of shacks 5
Yes, probability of getting a green sector is maximum.
18. Question
When two dice are rolled:
(i) List the outcomes for the event that the total is odd.
(ii} Find probability of getting an odd total.
(iii) List the outcomes for the event that total is less than 5.
{iv) Find the probability of getting a total less than 57
Answer
(i) List the outcomes for the event that the total is odd.
Possible cutcomes of two dice are:
TABLE 2
First dice
Second dice 1 2 3 4 5 6
1 1,1 1,2 1,3 1,4 1,5 1,6
2 2,1 2,2 2,3 2,4 2,5 2,6
3 3,1 3,2 3,3 3,4 3,5 3,6
4 4,1 4,2 4,3 4,4 4,5 4,6
5 5.1 5,2 53 5.4 55 5.6
6 6,1 6,2 6,3 6,4 6,5 6,6

QOutcomes for the event that the total is odd are: (2, 1), {4, 1), (6, 1), (1, 2), (3, 2), (5, 2), (2, 3), (4, 3), (6, 3),

(1, 4), (3, 4), (5, 4), (2, 5), (4, 5), (6, 5), (1, 6), (3, B), (5, 6)

(ii) Find probability of getting an odd total.
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From above we get that the total number of outcomes for the event that the total is odd are 18

Total numbers of outcomes from two dice are 36

Probability of getting an event that the total is odd = Tetalnumber of events withofdd total _ 18 _

Total number of events

@
M|

(iii) List the outcomes for the event that total is less than 5.
Total numbers of outcomes from two dice are 36

Total number of outcomes of the events that total is less than 5 are: (1, 1), (2, 1),(3, 1), (1, 2), (2, 2) and (1,
3)

(iv) Find the probability of getting a total less than 57
Total numbers of outcomes from two dice are 36

Total number of events that total is less than 5 are: (1, 1), (2, 1),(3, 1), (1, 2), (2, 2) and (1, 3)

Probability of getting an event that total is less than 5 = Total number of events with total less thans _ iﬁ

Total numberof events

w
[ Nl

Therefore the probability of getting an event that total is less than 5 is%
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